Losungen der Hausaufgaben zum Grundlagenthema Mengen

Aufgabe 1
Gegeben: A={1;3;4;6;9}, B={0;1;3;5,7;9}, C={0;2;4,5;8;9} A
a) ANB= {1;3;9} b)
AUB = {0;1;3;4;5;6;7;9} m
ANC= {4;9}
BUC = {0;1;2;3;4:5;7;8;9} Av&
AB = {4;6}
B\A = {0;5;7}
1]
Aufgabe 2 £
a) BNA= {2;4;a}
AUC = {1;2;4;5;6;7;8;a;b;c;d;e }
CA = {6;7;c;d}
BUC = {2;3;4:5;6;7,9;a;b;¢;d}
ANB NC= {4;a}
B(ANC) = {2;3;6:9;d}
ANBUC)= {2;4;5;a;b}
b) 6€BNC — Wahr
{5;c} c C/B - Wahr
{b;d} & (A UB)\C — Wahr
{57} c A — Falsch
{2;4}<€ ANB — Wahr
9¢ ANBUC) — Wahr
Aufgabe 5
Gegeben: A = {x | -3<x<8}; B={x | I<x<6};C={x | x>4}; D= {x | x <10};
a) A=1-3:8] _; é -
B =[1;6] —H—>
I .6
C=14;00[ —
4
D = ]-0;10] —— -
10
b) CND= 14;10]
BUD = ]- ;101 =D
A\C = 1-3;4]
B\D = {}

AUC= 1-3; ]



